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Question Number : 1 Question Id : 7155052464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155057691, R1 1s transitive but R, is not transitive

7155057692, R2 1s transitive but Ry is not transitive

7155057693, Both R and R, are transitive

7155057694, INeither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505155
Yes

null



Question Number : 1 Question Id : 7155052464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-2 —-"-\\A-ﬁ-f — Y et e,y e el

(a, b) R, (c, d) ad —bc >0 =50

(a,D)R,(c,d) a+d=2b +c =0T Q000 W TR.AADT, &N
o

Options :
7155057692 R, To@Fmon0ET, B0 R, momsmmnig)hy

7155057694, Rl =R TSN Rz =Snd oD TaoNd

Question Number : 2 Question Id : 7155052465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( 30 80 32
Let o and P be the roots of x* — 3x +9 = 0. Then | B 7+ = = is equal to
(0™ (9p) |

Options:
7155057695. 1

|
7155057696. 9

7155057697. 3



7155057698. 9

Question Number : 2 Question Id : 7155052465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e e -

= 2 - S N [ — - 2 -
AW PNW -3 19 =0 0NIND TR WiD, RONTINTY. &
=L E

( n30 A
! Bm"'mmi O &
(02 (9p)7 )
Options :

7155057695. 1

|
7155057696. 9
7155057697. 3

7155057698. 9

Question Number : 3 Question Id : 7155052466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For z =2 + 5i, the modulus of 273+ 2122 58z +4is:

Options :

7155057699. 1153

7155057700. 947



7155057701. 537

7155057702. 837

Question Number : 3 Question Id : 7155052466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

! Lt f - -.:' ™ — s —, ,.."
z=2+5171 22°+217°-58z +4 T IRIB.SReD
(-

Options :

7155057699. 1153
7155057700. 947
7155057701, 537

7155057702, 837

Question Number : 4 Question Id : 7155052467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455

: ; ; 5
has infinitely many solutions, then K- is

Options :



7155057703. 27

I_|h|,|_

7155057704.
7155057705. 9

7155057706. 3

Question Number : 4 Question Id : 7155052467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Aﬁ'—ﬁyhﬁ: =7

Gx+43y=2z=\11

30x +(3W15 - 5v6) y +(5V15 - 3v10)z = 521 43455
DO AeTTENY 235235 03 9BV BOTITNFR), BRODBI K =
Options :

7155057703. 27

I-.H"l_

7155057704.

7155057705. 9

7155057706. 3

Question Number : 5 Question Id : 7155052468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_‘“'n: 0) 1 0)

For o, p € £, if the matrices A= o ] satisfy the equation
] ),

(A%B)#2I =201, where # is detmed as A%B=A"+ B, then | af| is equal to :
Options :

7155057707,2\ﬁ§
7155057708, 272
7155057709, 4

7155057710. 2

Question Number : 5 Question Id : 7155052468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
‘a 0) ‘@ 0). (1 0)

- | | | - = . 2 2 s,
o P,eRN A= ,B= = FASD Erjﬂ'?& % O A%B=A“+B* 20
0p) 0o (01 g
TOATVAROL BADETTR (A * B) % 21=201 &=, 3 LRRPATT | of 0D LSO :
] O G B =, (=} . |
Options :

7155057707.2\ﬁ§
7155057708, 232
7155057709. 4

7155057710. 2



Question Number : 6 Question Id : 7155052469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. R 1
The sum of the first eleven terms of the series is ———5+ — +
1+17+1 1+2°42 1+3° 43

Options :

7155057711. 133

7155057712. 133

16

7155057713, 33

33
7155057714, 67

Question Number : 6 Question Id : 7155052469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e 1 2 3 g R T
UE?E: ] 4 LR ] 4‘ + ] T e :\J: u\:".- L\J\-" J.]. I\.-«-JII U'JU \;“'-ﬁ\:-": :

7155057711. 133

66
7155057712, 133

16

7155057713, 33



33
7155057714, 67

Question Number : 7 Question Id : 7155052470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2

lim(1+3x) * s equal to

x—0

Options :

7155057715. €

7155057716. &

7155057717 e°

7155057718. e°

Question Number : 7 Question Id : 7155052470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+2

Em(1+4+3x) * =

x—0

Options :

7155057715. €

7155057716. &

7155057717 e°



7155057718. e°

Question Number : 8 Question Id : 7155052471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nE : : s A, g X=d P=ld 2=l ;.
Let P(a.p, A]be the image of the point Q(1,2.0) in the line G =5 ,then (PQ) 1s

equal to
Options :

7155057719. 90
7155057720. 180
7155057721. 360

7155057722. 270

Question Number : 8 Question Id : 7155052471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QUJﬂ)@OKDﬁJx;5=y_u=z_10®omﬁﬁ$0$&ﬁwjphlﬁgﬂ3&E0$O$aﬂU@.

57 (PQ)* =
Options :

7155057719. 90

7155057720. 180



7155057721. 360

7155057722. 270

Question Number : 9 Question Id : 7155052472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155057723. 8820
7155057724, 10584
7155057725. 1764

7155057726. 3515

Question Number : 9 Question Id : 7155052472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,00 Be3,0d 7 Fom) 23, 9 2P FOBINYR, BRODR. HTTE). FIA, LT
BFORIMNY) OB 20 NP NG, 8 tFORINE, TRTINOME JGNY
ﬁ()@j‘so\b\} :

Options :

7155057723. 8820



7155057724. 10584
7155057725. 1764

7155057726, 3515

Question Number : 10 Question Id : 7155052473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

' - " -~ 1— - '
Let [t] denote the greatest integer function. If [[1+:7++*[dr=g, then 364 -254" +84° -4 1s equal to
I _

Options:

7155057727.19
7155057728. —19
7155057729. 18

7155057730. —21

Question Number : 10 Question Id : 7155052473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
2 1_ =
[1] 3,230 NOR, T3pTF0F 603, 3,20NTO. 2,00 8XF [[142 424 ax=a, €3BT,
I |
36a-250" 84" - ' © AISIONN
Options:

7155057727.19



7155057728. —19
7155057729. 18

7155057730. —21

Question Number : 11 Question Id : 7155052474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155057731, ~2
7155057732. 2
7155057733, 242

7155057734. 4

Question Number : 11 Question Id : 7155052474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PL =8 230N%) ah3) QM =2 @3N%) YT IR Aeiw030 Tt D0RNY), PM
23), QL 3am0RNF, R eowe) 6O, PLah3), QM 1igh, PQR 20
20T BDROT B BANTIE 23,37 A JETNYITT, €3 83,373 3255

Options:

7155057731, ~2



7155057732. 2

7155057733, 242

7155057734. 4

Question Number : 12 Question Id : 7155052475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /j: 9x + 7y + 0 =0, then the centroid of APQR moves on the line /, which is

: 20 i b B : ‘ :
parallel to /; at a distance —— units from it. If the distance of Q from /; is X thenkis

WI130 3,130

equal to ;
Options :

7155057735. 117
7155057736. 129
7155057737. 131

7155057738. 133

Question Number : 12 Question Id : 7155052475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢ €N, PQR DI PR, 533 Qlo, Al1) 47 Fonnenss humndd. R
: - -

ocr o — — _‘.f'

RO Tes fl Ox+Tv+a=03 et BORETT 8n APQRT ™t

—‘_——- - — — = [ — I—".'A;_-\' — "'...'.
DRTNDIN B 90T ANROTTIRNWD T 1, wded
o)

(|08 —— TRIT®
WI3

Options :
7155057735. 117

7155057736. 129
7155057737. 131

7155057738. 133

Question Number : 13 Question Id : 7155052476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A{x;, v;), 1= 1,2,3 be points on the circle 12+ y*= 10 such that Ay lies in the 1% quadrant and it
is the image of point A, with respect to y-axis. If the distance of point A; from each of the points

A, and A; 1s 2, then twenty times the area of the A Ay Ay Az is
Options :

7155057739. 12

7155057740. 30

7155057741. 24

7155057742. 48



Question Number : 13 Question Id : 7155052476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ay 3, =123 0 x*+)* =103 33 LOTONGRN, A SRTL UBRFFETYD MW 0w
J-93TY A, LODIT TSFOTRNT R0QTY. 4 N, A3 ATRER WOWNTOT Ar 7l
W BRTH 28NTT,  AA, A, A, 0D QAEFT 20 T, TR WECD

Options :

7155057739. 12
7155057740. 30
7155057741. 24

7155057742, 48

Question Number : 14 Question Id : 7155052477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 is
Options :

7155057743. 3

7155057744. 7

7155057745, 9

7155057746. 11



Question Number : 14 Question Id : 7155052477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
757 By, 15 DOT N Aen 220)e3 3eRad):
Options :

7155057743. 5
7155057744. 7
7155057745, 9

7155057746. 11

Question Number : 15 Question Id : 7155052478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ax — Bz + v passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=land3x-2y+2z=0,thena+f+yisequalto:

Options:
7155057747. 5
7155057748. 13

7155057749. 19

7155057750. 27

Question Number : 15 Question Id : 7155052478 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(1,-1,3) WO MRVT Tl DRC

— bt A chTa i Fat Abwrtatatel tat = gt s
-2 +2z=0AWELNIN OVOWWNTT 8T at+Pf+ya WOOW :

Options :

7155057747. 5
7155057748. 13
7155057749. 19

7155057750. 27

Question Number : 16 Question Id : 7155052479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

> M A M

2 N M M =¥ P Y . M c o
Let a=1+427+3k, b=1—j+2k c=2i+j—4k be three vectors. If 7 is the vector such that

sgeining fiaa gl g — |:_’ = — . A A

rXa= b+c|xa and r+ b—c|=0  then r-(j+,i—k) isequal to:
\ J X J )

Options :

7155057751. 3

7155057752. 4

7155057753. 5

7155057754. 6



Question Number : 16 Question Id : 7155052479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR o i e - = !f’_} —>\‘|. -
i-742k c=2i+j-4k Q00 LR FOINYTO. rxa=btc|xa A

/

r+| b—c[=0 SANT; Q0WT WO FOIFNTT, ©n 7 (1+J k) SIEALONW
| (A]

Options:

7155057751. 3
7155057752. 4
7155057753. 5

7155057754. 6

Question Number : 17 Question Id : 7155052480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 12 4.4 £18.= 0 satisfies the

equation x'=1,1s
Options :
7155057755. 0

7155057756. 59

3
7155057757, 59



7
7155057758, 118

Question Number : 17 Question Id : 7155052480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1’ =1 ADETORRW, S INEND [=x+pi4 44118
- £= o

- 2 J
mﬁf‘@w .erw.wJ 'TJC:'\: Jwau \.L:G :

- = dm = 0]
=) ReREBORQ0T ARG LUA N

b

—

'L’;

Options:

7155057755. 0

7155057756. 29
£

7155057757. 59

7155057758, 118

Question Number : 18 Question Id : 7155052481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean 1s 3 and variance is 2, then P(X < 3) is

equal to

Options:

7155057759. 3

7155057760. 3



163
7155057761, 3°

835
7155057762. 3°

Question Number : 18 Question Id : 7155052481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- — ! - _.-g'- — —"Ar' ':‘-I f — al \—'- 5 '_.'.'

X0 Bp)d QRT DOWHCIPNTY. LO0W =[eY ATRO I W) 7,8 2 #NTT,
' e

n

4

Options :

- ﬁ-':O:C.F\I'!‘\‘\ i
] o i

P(X <

29x 28
7155057759, 3°

25% 27

7155057760. 3°

163
7155057761, 3°

835
7155057762, 3°

Question Number : 19 Question Id : 7155052482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. b
: . . Al T =3x+2] .
The domain of the function f(x)=cos ™| —— " | is:
Seemy il aet )

Options :



7155057763.

i

_’33'

7155057764, [5 J
A _ _ |
7155057765, -~ =42 = L 2= 1]

7155057766. (o= —1—+2) U (2 = 1.59)

Question Number : 19 Question Id : 7155052482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(x2—3x+2)

f)=cos | "= | 0BT,B 863 :

2 !t _*x"_,_zx_lj [ b —

(ul

Options :

| 2—1,%}
7155057763. \ 5

i
7155057764, [5’ ),

7155057765, =~ =42 = L. 2= 1]

7155057766. (o=~ 1—+2) 1w (2 = 1.59)

Question Number : 20 Question Id : 7155052483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?



Options :
7155057767. (P = AV p) = ¢

7155057768. ((P A Q) = p) = ¢
7155057769. (P A Q) A{~q)) = p

7155057770. {{(p=aq) V p)=p

Question Number : 20 Question Id : 7155052483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FENT 03T JEPINYL A IXINTeNT ?
Options :

7155057767. (P = Q) V p) = q

7155057768, (b A Q) = p) = q

7155057769, (P A Q) A{~q)) = p

7155057770. {(p=aQ) V p)=p

Mathematics Section B

Section Id : 715505156
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505156
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155052484 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
n, where m and n are coprime, then m + n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052484 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

y=x2+ 1 0% BT v+ /=3 T3y = -1 QO WIHNP O, 300 )AL EDF R, m
0 (9¢). mad3), n e ABCIN,MEH) T eJeNATT, m+n & 2e3oin :

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052485 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052485 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-;-:':' 0 — T T, —E‘ .——n:-?. T — o —
D¢ WRHFOW EJ.A; 2,000 1N .».Lx..x, NTwoN u.C«.«:L ww.f}rﬂvl Beldy <000
== L A U 0]
-;::—5‘—5 e - —ﬂ £ - :r_u i Ty om B -‘-l o o, '!-'l 5, —n —
RITNTW, WVEOLL 12 Nplaly non 30 wone 0edod TMNYRW, WEOALTITT
=y =y =y

T, w2 o
wilai 'i JO-.J

(=]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 23 Question Id : 7155052486 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15
. 12 .
Let (14+x*—x*) =3 a,x™ Then ag+ap+ay+...+ agy is equal to
' n=1{

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052486 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
48
=2 anx" Ty tagtotay =
n=0

[_1+x2—x4-]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052487 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— Sy is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052487 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S5n 00T T+10+16+25+37+.., 30800 IRTO nITNG BT RRWATT, &1
S30—Syp O

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052488 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f (x]:[x+x3}+‘x—x3‘+ is not differentiable in the open interval (~10, 10), is

1
v+ —
2

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052488 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

— =
3 /

[t] 00 ROR TRFFOT < t 0T RRWITT SN (10, 10) 3TT ©03TYT
o

el

3

2 I 3| 1 gy O el o ol £ e e o e, e PR
_f(x]—[:wx }-r‘x—x ‘+x+; PBRR JRR,NRIOWR WOTING F0L,03W
2 = W= % U

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052489 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ifj dx _ |
Bt +5) 102 +7 V380

log, | /(x)[+C where C is an arbitrary constant, then f(0) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 26 Question Id : 7155052489 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i ] .
2 -f I - — o lngﬁl\/{ (f}|+tf_ﬁm}ﬁ {{aecjlr C ﬁ:}(:}&}\jﬁj\} ﬁd r%ﬁ@@ﬁ.’) Jr[“] =
(Bx"+5)410x°+7 V380 -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052490 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5), (1, —1) and eccentricity /3 be

=2y +ax+by+c=0. Then|a+b+c|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052490 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1,5), (1, -1) Torea, 3 deons |5 BRONMT SITITOLT FeF0res e
Ej‘z—ax—bp—ﬁl]. ‘:m&u la+b+c| 00 ©ECW ¢

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052491 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let 0y, o be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, oy, 0),

(e,

unit-.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052491 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i oy pedadg oy Tl oy
0y, Oy nw al LQIW_‘J‘IM 20 (2,4, 3’) “x:?C W@ xtytezt10=0Rkn QRO
= s — (164 | ) o ;oo WETI VRN A
35 MROBRONTOATY. SN (a ) @, 0), ), 0)z0E |—=, 50| 2ONNFCT0 SLX%0
1 1,0 | 50( T .
- — -—— - — -
Rk P00 DROBRING.

-.-\J"'\J ALl



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052492 Question Type : SA Calculator :

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

" st J n N Mns fi Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-51+7j-3k and o¢= ,; represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052492 Question Type : SA Calculator :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey s e mn T e — i '; ';I\

d\d\ A 4 .J\ n
o G G0 m.)ul.w\-.fwdvi.-ﬂvrl T‘QJ DA —3?-‘-??4‘ _I. OB —5 +?‘ _Sk c """:P O[::u

— . N T T ey )
H‘j\e "‘JW\J-'VN-JU W“J\.-E'\.’ W ﬁEMH“;“w -"‘hvw"‘q’w ﬁa;ﬂ 1] Q3R .Uf IV H&EW‘L“;{N W3
'u' i - ¥l
T = —_— A '“-r' =" f AL Tat et
AOTND. Zww03T T BERD) om;t 0D T V%, Doxdy) 2 ﬂwu an LU0

Response Type : Numeric

Evaluation Required For SA : Yes

None

None



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052493 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
X+y=2 dy _X+y+2

[f the solution curve of the differential equation X+ >2 passes through the

x+y-1 dx x+y+l

i | B
a +da+2

points (JE.JE | and (2.a), then 2a~log, is equal to

L 6
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052493 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+y=2 dy _X+y+2

X+)>2 Q0L QaIFOR AeNFTHT BOBOT 3T (v2,42)

x+y=-1 dx x+y+l

3, (2.4), WORNY 2heOT TR BRRT 2a - I(}gc‘(#w 3 2363030

/

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Aptitude Test
Section Id : 715505157
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505157
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155052494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155057781, Lvpe of cement



7155057782, Lype of floor finish

7155057783, Lype of paint

7155057784, Lype of Brick

Question Number : 31 Question Id : 7155052494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
S TENOIYNEN)

Options :
7155057781. 2000 @Cﬁﬁj ATNOEF

7155057782, SOTIAD AT IO )P
7155057783, 2L OE3T I3

7155057784, BT eI

Question Number : 32 Question Id : 7155052495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below



Options :

7155057785. Both Statement I and Statement II are correct

7155057786. Both Statement I and Statement IT are incorrect

7155057787. Statement I is correct but statement IT is incorrect

7155057788. Statement I is incorrect but statement II is correct

Question Number : 32 Question Id : 7155052495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
& 397 0R) BTN, BRNE.

BEPF1 B0RIR) 0,303, (0IR FFsh oletuTewn, Irdaeis,
BODLIN : FORCTIR Jrida) A, 7-F00F aem), 30, Toa %, O TULFACHT WR00R e egne 83,
i BeLFNYR, MahedA, T BT e0d,nee), e93;02 Zegmendia et ol Hnb.

Options :
7155057785, ZEFT | a3y, WEPT Il TR RDOImNE

7155057786. meETE | ﬁ\}ﬁ:_:: P || enCrEue 3eta Nad

7155057787. LT | ADCIPNG 330 DELT 1l e NES

7155057788, XL¥T | Se0e, NG e300 DEFT 11 RDOiRNE

Question Number : 33 Question Id : 7155052496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements;

Statement I ; Glass has low thermal conductivity

Statement II : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below

Options :

7155057789. Both Statement I and Statement II are correct

7155057790. Both Statement I and Statement IT are incorrect

7155057791. Statement I is correct but statement IT is incorrect

7155057792. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
8 591 0 BELTNY, BTN,

BPF: M 3hch R T3 BRODE.
BDFI: M7 B¥ER, HoROR, BEFOS SRBLOR H3) TEhEemen DEROR.

st BwePFnY

e,

Meedd, T eRtha esch,niee) e3;03 Je%mencHe evdduh, esah, siwi.
Options :

7155057789. LT | 3 BWEPT 1l 20 RDCITBNES

7155057790, XL¥T | eh3), ®EFT 1| TR Fwe,Nad

7155057791. LT | ADCIRNE 90 DELT | Emﬂﬁaf

7155057792, 2t¥T | 309, NI 3030 &ELTF | ZDCIRNG



Question Number : 34 Question Id : 7155052497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST IT
A PMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY II. JAN DHAN YOJANA
C. PMEVY II1. [UITWALA YOJANA
D. [PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155057793, A-L. B-III, C-II, D-IV

7155057794, A-IIL, B-IV, C-1, D-II

7155057795, A-IV, B-II, C-III, D-I

7155057796, A-IV, B-III, C-I, D-II

Question Number : 34 Question Id : 7155052497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
:E3, — 10 a3 R, - 1T 90y, BRODA.

=83, 1 B8, 11
A PMUY L. [F°3ey; dsoa clettne
B. [PMAY IL Jase® 3o O3uetasm0
C. PMEVY 1M1 Jenzs 259 03etzsaie
D. PMIDY IV. [esayo=® cdetesae




7155057793. A-L, B-III, C-II, D-IV

7155057794, A-III, B-IV, C-I, D-II

7155057795. A-IV. B-II, C-III, D-I

7155057796, A-IV. B-III, C-1, D-II

Question Number : 35 Question Id : 7155052498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |CP Kukreja [. IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehm University
C. |B.V Doshi I11. [IIT Kanpur
D. |Achvut Kanvinde| IV. [I[IM Bengaluru

Choose the correct answer from the options given below:
Options :

7155057797. A-IV. B-1L, C-1. D-III

7155057798, A-III, B-1. C-II, D-IV

7155057799, A-II, B-1, C-IV, D-III

7155057800. A-L. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
:E3, — 10 a3 R, - 1T 90y, BRODA.

=6, 1 =&, 11

A A& BTl I M &% a0e LIl

B. lopdhaw | ma| I [xenmTrener SH0e 0RREAE €3
C. |20 055083 I [T 93,0

D.

E92R):3° T, 003 IV. [IM 5orslet

FEN REC0ES e303,NFe). Abodien euddadny, esod, sdiete.
Options :
7155057797, A-IV. B-IL, C-1. D-III

7155057798, A-IIL, B-I, C-II, D-IV

7155057799. A-1I, B-1, C-IV. D-III

7155057800, A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a complimentary colour?

Options :
7155057801, Blue-Orange

7155057802. Red-Green

7155057803. Blue-Green

7155057804, Violet-Yellow



Question Number : 36 Question Id : 7155052499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FENTHNF ). O30T DA eaF eooNe) ?
Options :

7155057801, CE)-5I

— =9
7155057802, © QT0)-T0 AT

7155057803, ~CC)-T AT

7155057804, L 0% -T0F 0

Question Number : 37 Question Id : 7155052500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :
7155057805. Himachal Pradesh

7155057806. Uttarakhand

7155057807. Uttar Pradesh

7155057808, Madhya Pradesh

Question Number : 37 Question Id : 7155052500 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
03T O3 Tazssiae) , BWORGBTALTT M TORBIWTIEHTI?

Options:
7155057805, SOV T THT

7155057806, Y03 TR OTS

7155057807, Y030 I T T

7155057808, @003 2T

Question Number : 38 Question Id : 7155052501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option among the following:

Petronas Tower 1s situated in:

Options :

7155057809. Paris

7155057810. Dubal

7155057811, Kuala Lumpur

7155057812, New York

Question Number : 38 Question Id : 7155052501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
FPNIYNF ). IDO3RE 30,00, e3DA.

"BEERLSA L30T ) DeddEBeNG?
Options :
7155057809, #2300 A"

7155057810, Loy

7155057811, 0> I00&) T

7155057812, @O TE

Question Number : 39 Question Id : 7155052502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options :
7155057813, Madhya Pradesh

7155057814. Odisha
7155057815, Karnataka

7155057816, Rajasthan

Question Number : 39 Question Id : 7155052502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FTRCOITE BlesAe Seg) 00 Tatssine). TOTY WINIR?
Options :

7155057813, @00 2T

7155057814, 2,02 Ta

7155057815, T oo f 3%

7155057816, 09259,

Question Number : 40 Question Id : 7155052503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :

7155057817. Louis I Kahn
7155057818. Mohse Safdi

7155057819. Fariborz Sahba

7155057820. Ricllard :"»“IE'}'E:I'

Question Number : 40 Question Id : 7155052503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRLEA® 30T (TN BledA,S) 20R, D), O33T?



Options :
7155057817, ORONA" [ F9T0Y

2 9
7155057818, C9/ATD,, A

@

7155057819, PPOWRTE A0,

7155057820. D2F T8 a0 T?

Question Number : 41 Question Id : 7155052504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options :

7155057821, A dead Bearer
7155057822. A Dumb Waiter
7155057823, A Jockey Boy

7155057824, A push upper

Question Number : 41 Question Id : 7155052504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9, L3903 (R, 3.07) AeNodl BRRITYTT,NE B, Ox,), FTENIHE:
Options:

7155057821, 2,070 BTE 2I0DTT*



7155057822. 2,003) 3O aoOeEdT®

7155057823. 2,003 2308 2J2035°

7155057824, LOT3) TWR® €93, 0°

Question Number : 42 Question Id : 7155052505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are often referred as 'twin cities' of Odisha?

Options:

7155057825. Bhubaneshwar-Puri
7155057826. Puri-Cuttack
7155057827. Bhubaneshwar-Cuttack

7155057828. Bhubaneshwar-Rourkela

Question Number : 42 Question Id : 7155052505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FYNS 00YNe, wDAH 9% SNONTOR) AB2N Il AING?

Options:
7155057825, G0E3 00

7155057826, O-TEIT®



7155057827, WIS 0T ST

7155057828, TN S 0-CRFED

Question Number : 43 Question Id : 7155052506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the correct chronology of Human Civilizations in terms of their existence?

Options :
7155057829, Mesopotamia-Harappa-Egyptian-Chinese

7155057830, Mesopotamia-Egyptian-Harappa-Chinese
7155057831, Mesopotamia-Chinese-Harappa-Egyptian

7155057832, Egvptian-Mesopotamia-Harappa-Sumerian

Question Number : 43 Question Id : 7155052506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2] DINDTFING 923 B03 9x)N1% AD0OIINE TCIDTTN)

Options :
7155057829, TR E3PEeII03T-T0TE0e),,-S523e8 BI-23 (I OD T
7155057830, PR E3PEeII03Ta- 52323 BI-30009),,-23 (IO T

7155057831, 2R EIReII03I2-23C)CONT)-THTete, - S523 8 T



7155057832, ST OI-eDABEIRCeII03I0-50T@e),,-AIe0¢D O, 0

Question Number : 44 Question Id : 7155052507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :

7155057833. Shah Jahan
7155057834, Jahangir

7155057835. Akbar

7155057836, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BB B3I ITIT® DedIFATIT:
Options :

7155057833, JT0e Z0d o

7155057834, 2353020 N(T"

7155057835, 2T, 0°

7155057836, D030 SR LD® 80T



Question Number : 45 Question Id : 7155052508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) Light throughout the
year’

Options :

7155057837. North
7155057838. South
7155057839. East

7155057840, West

Question Number : 45 Question Id : 7155052508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

38,80 9TFRRITE 0dees B8,36). BRE G B0 (1107 BnT) BeT,
FALFIOWSDIANTN (AN,

Options :
7155057837, Y030

7155057838, (O£

7155057839, 89/@a3E

7155057840, T 2,23)



Question Number : 46 Question Id : 7155052509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :

7155057841, Raj Rewal

7155057842, Charles Correa

7155057843, Achyut Kanvinde

7155057844, Hafeez Contractor

Question Number : 46 Question Id : 7155052509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

#%,D03) 08 BAN,IRG "2eR®BO R 5 A03CH"R oAy, I¢) aiRT)?
Options :

7155057841, 0925 OleIaey”

7155057842, BOCTE BROE
7155057843, 223053 F) 0T

7155057844, 22 TwOEIYT0°



Question Number : 47 Question Id : 7155052510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewari is a construction style popular predominantly in

Options :

7155057845, Coastal Areas

7155057846. Plains

7155057847, Mountainous Region

7155057848. Desert Areas

Question Number : 47 Question Id : 7155052510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2, - BaD 23y0d Jaderte FOodeN T BRODTITHH)
Options:

7155057845, (3 BTHINF),

7155057846, Mo BEITS W THINTE),

7155057847, 2383, TTHBNYE),

7155057848, E0TI @) BTICINFE)

Question Number : 48 Question Id : 7155052511 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options:

7155057849, Marble
7155057850. Granite
7155057851. Shale

7155057852, Sand Stone

Question Number : 48 Question Id : 7155052511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2363,- 7O, MY BOOINPE) shtern,=Zedmen eRodetNRIEE de3 odweym)?
Options :

7155057849, £33 A3 (FowEe)

5
7155057850, (19705 ¢

7155057851, Te3

7155057852, POsOTF AU L°

Question Number : 49 Question Id : 7155052512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chandigarh 1s an example of which type of city planning.
Options :

7155057853. Radio Centric
7155057854, Grid-1ron
7155057855, Linear

7155057856, Organic

Question Number : 49 Question Id : 7155052512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WORNE) 0w )BEE SNT O3RN SO0 NG?
Options :

7155057853, DLEBO0RC FLOLY 3

7155057854, NO®I- T, €9

7155057855, O8O0

7155057856. M® &) O3EY

Question Number : 50 Question Id : 7155052513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options :



7155057857, 1 hose facing North
7155057858, 1 hose facing South
7155057859, 1 hose facing East

7155057860, 1 hose facing West

Question Number : 50 Question Id : 7155052513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

MAteRE ANG) 0T a3 TR(HNPR), Dl BRELBITIET 932,35
ARNG) )(FH 0F e NN TCHNY) 0hoeg)e)?

Options :
7155057857, YU 0T TG 2300 a0E3)ede)NED

7155057858, Co0,ERT0 TTETT 2dd8) el Ed0Iedad) %D
7155057859, TP T3 TTEN a3 a3 T3 Neh

7155057860, BALENTS T 230 TIVBTIEI I

Question Number : 51 Question Id : 7155052514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options :

7155057861. B.V Doshi



7155057862. C-P Kukreja
7155057863, Raj Rewal

7155057864, Bimal Patel

Question Number : 51 Question Id : 7155052514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" Do, 03 Pog@ma” (D0e)(;3) 3008 A0A_. BHBECDT,
L)V ANRY AT

Options :
7155057861, 22.20.T30CD

4o
7155057862, ~V-c0. BT

7155057863. D23 Taase)®

7155057864, 20a0e3® ey

Question Number : 52 Question Id : 7155052515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155057865, A-IL, B-1, C-IV, D-III

7155057866. A-L, B-IIL, C-IV, D-II

7155057867. A-L. B-II, C-III, D-IV

7155057868, A-IV. B-III, C-II, D-I



Question Number : 52 Question Id : 7155052515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
We3, — 10 203 RE, - I1 23y, BRAODA.

28,1 88, - I

L |eox,or 7,083 78,3

1 [Becim Retdoie

I 2, .50 30

IV. [gpdaAcho

Fomt Jenthal esoh,NYe), FociRT evdiaah, ok, wwd:
Options:
7155057865, A-1I, B-1, C-IV. D-III

7155057866, A-L, B-III, C-IV, D-II



7155057867, A-L. B-II, C-III, D-IV

7155057868, A-IV, B-1II, C-II. D-I

Question Number : 53 Question Id : 7155052516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIE-T I LISTII
o r_ﬁ
Al v ‘ﬁ [ |Tesla
B. II. |Ferrari
C. I1I. [Porsche
D. £&e || IV, |Toyota

Choose the correct answer from the options given below:
Options :
7155057869, A-IV. B-1, C-1I. D-III

7155057870. A-IL B-III. C-1, D-IV

7155057871, A-1II, B-II. C-I, D-IV



7155057872, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e, — 10 Bed R, - I1 93y, BAODA.

26,1 =6, 11
A Q = Loj Ll
ﬁ
B. II [Foed
——
c | S | mecae
D. i CeNoloviolkn

F¥ eRa0hes e30d,NFe). Aol evdtealy, esod, shwte:
Options :

7155057869. A-IV, B-1, C-II. D-III

7155057870, A-1L, B-III. C-1, D-IV

7155057871, A-IIL, B-II. C-1, D-IV

7155057872, A-IV, B-III, C-II, D-I



Question Number : 54 Question Id : 7155052517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155057873. Both Statement I and Statement II are correct

7155057874. Both Statement I and Statement IT are incorrect

7155057875. Statement I is correct but statement II is incorrect

7155057876. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
8 TYT UG BEFTNTRY, SRR,

BCDFL : )00 R LT0RE),. i, Satm@an, Betwesn dp@ennt, M), eshad, detttod
D@, T,RetwEesn eugodatNaeeng.

BEDF 1 : T BRI, 0, B0 JIRIRE), TR FFDAT Alyo; e970), NagAlFg SR00T DT80 Feltz08
womhaa, 30,30 AacRNEIR.

FER BePEnYR, Mebad, 39NS S0knve) ROCRE 03Tm, 0.

Options:



7155057873. mEEE | Eﬁ&@!gﬁ P || enDase ADodmnhal
7155057874, XELT | 513y, DEFT 1| DTGB Swe, Nad
7155057875. MPRE | ADOIRNG 930 meDE Il Emﬂﬁaf

7155057876. LR | Emﬁﬁﬂﬂ 230 @eRF | RDO3Rhc

Question Number : 55 Question Id : 7155052518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M8 |

Options:

7155057877.

7155057878.




<

7155057879.

<

7155057880.

Question Number : 55 Question Id : 7155052518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

000R BF9E). T, B Iried oo endo B InotheE. 3o BInve)
IR B, B3IV BREOODR, ANOREORITTNG 503,

ﬁJEll Qﬁ'é’Jﬁ%’:}

M8 ||

Options:

<

7155057877.

7155057878.



7155057879.

7155057880.

Question Number : 56 Question Id : 7155052519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options :

7155057881. 26

]
N

7155057882.



7155057883. 27

7155057884. 24

Question Number : 56 Question Id : 7155052519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33, 30e I Ry, JBRSNP TR e)?

7155057881. 26

]
N

7155057882.

7155057883. 27

7155057884. 24

Question Number : 57 Question Id : 7155052520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the odd one out:-

7,9, 25, 32,43, 359
Options :

7155057885. 39

7155057886. 32

]
N

7155057887.

7155057888. 9

Question Number : 57 Question Id : 7155052520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
%L BRI, TOTIEAND.

T, 25,3043, 59
Options
7155057885. 59

7155057886. 32

]
N

7155057887.

7155057888. 9

Question Number : 58 Question Id : 7155052521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155057889. 45.6 meter
7155057890. 50 meter
7155057891. 50.4 meter

7155057892. 51.6 meter

Question Number : 58 Question Id : 7155052521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,0%) B33 TERRE) 15 DD 9B, 3O BB 23T (R, Herte
SOBIAE TR BB, T3, ADA) 4.2 (KT YRR, WYTE cex, ahdcensh
(AR B 3=, ADTR0R)) 3.3 cdXET* 3TN (3.2:0N0T
e, BT, FEBE 260, 3T R),? (ETTLE) )

Options :
7155057889, 43.6 2)ICEIT?
7155057890, 50 eDCEIT®

7155057891, 50.4 e))CEIT?

7155057892, 51.6 c))CEIT?

Question Number : 59 Question Id : 7155052522 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options :
7155057893, & D Ué

7155057894, £ J DD HE2
7155057895. SUCCESS

7155057896. SSECCUS

Question Number : 59 Question Id : 7155052522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRE,0IE BEE BHBEED 2I02EI), FOWD oldAND.

|
|
SUCCESS |
|
|

Options :
7155057893. & 240D Ué

7155057894, U DH22

7155057895. SUCCESS



7155057896. SSECCUS

Question Number : 60 Question Id : 7155052523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :

7155057897. 0.7 km
7155057898. 7000 mm
7155057899. 7 km

7155057900. 70 meter

Question Number : 60 Question Id : 7155052523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,00 IFOD ALeF 1:1000 €3NS, TFOHE). 2I0R 'A' WO )0 BT 59T 7 em
BDODBATT, D2seINODe ToT) TORER FIVREY,, ARY,?

Options :

7155057897, 0.7 &.eJd€

7155057898, 7000 ¢J.e)€

7155057899, 7 B.2J€



7155057900, 70 eddCE3T*

Question Number : 61 Question Id : 7155052524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :

7155057901. & meter * 4 meter
7155057902. &80 meter = 40 meter
7155057903. 8 centimeter * 4 centimeter

7155057904. 4 meter = 2 meter

Question Number : 61 Question Id : 7155052524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B0 2 HIAD ey AT,N Z3eM0Fed) 80 eICEIT? x 40 IRESTTIFR, 1:100
ALE) FoheRNE. TMRT el (@0 eSS ¥R Mg wiad?

Options :
7155057901, 8 eddfEIT® x 4 JICEIT?

7155057902, 80 e)dCEIT® % 40 IICEITT

7155057903, 8 A0E3eNCEIT® x 4 A0E3ICEIT?



7155057904, 4 e)ICEIT® = 2 oDICEITT

Question Number : 62 Question Id : 7155052525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number in given series.

16, 33,63, 131, 261 4.....)
Options :
23

A

7155057905.
7155057906. 321
7155057907. 524

7155057908. 520

Question Number : 62 Question Id : 7155052525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRE3,0083 ATLIONE). FomoIwNTIES B083;0HT), FOBISLBAID.

16,33, 63,131,261 (.....)
Options :
7155057905. 523

7155057906. 521

7155057907. 524



7155057908. 520

Question Number : 63 Question Id : 7155052526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :

7155057909. KVCMA
7155057910. KWCNB
7155057911. KUCLA

7155057912 KVCNA

Question Number : 63 Question Id : 7155052526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2,003 A0FEF 0R0DE). ROMAN ), TQOCP 37 2TRT, R ITALY O3 .......

Options:
7155057909. KVCMA
7155057910. KWCNB

7155057911. KUCLA

7155057912. KVCNA



Question Number : 64 Question Id : 7155052527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

(A) (B) (C) (D)

)X
B\ b | ?

Options :

7155057913. D

7155057914. C

7155057915. B

7155057916. A

Question Number : 64 Question Id : 7155052527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
e, e303,1FS). 89e) LT (23°F) IE). FORIWTE AT, 13w, &SOA.

- | X | X | O

W,
Al

Options:

B> O |[E2

7155057913. D

7155057914, C

7155057915. B

7155057916. A

Question Number : 65 Question Id : 7155052528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155057917.

7155057918.

7155057919.

7155057920.




Question Number : 65 Question Id : 7155052528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3D 2333 WOW) WRDN SeLEIRT, 3RCTIYR). 230003 BT )0 2,
383 00es 003 T 33 NYe) , ©93;03 ARTNTIE DSHLTT (e, D Suetld)
23, FOWIRAND.

2

Options :

7155057917.

7155057918.

7155057919.




7155057920.

Question Number : 66 Question Id : 7155052529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155057921.

7155057922.




7155057923.

7155057924.

Question Number : 66 Question Id : 7155052529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3, 337 W3RN O S0, 3RDRR). TRt 0w en3 T BInee)
3@9,N0023 3D JSeléiainh, FoBBRAND.

Options :

7155057921.



%

7155057922.

7155057923.

A

7155057924.

Question Number : 67 Question Id : 7155052530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155057925. 9

7155057926. 10

7155057927. 8

7155057928. 11

Question Number : 67 Question Id : 7155052530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT ), 23, ;NFT), BRODTITYTI?

Options:



7155057925. 9

7155057926. 10

7155057927. 8

7155057928. 11

Question Number : 68 Question Id : 7155052531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

7155057929.

7155057930.



7155057931. "'-—
7155057932. IT @

Question Number : 68 Question Id : 7155052531 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B3, 33T, OB LNHERN DTN, 03T WINFE). YT B,
B3, ©8BINRY,HE BELFTAYRITYT?

_

Options :

N

7155057929.

7155057930.



7155057931. "-~
7155057932. IJ—_\_KI S

Question Number : 69 Question Id : 7155052532 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155057933.



7155057934. ]

7155057935. -

7155057936.

Question Number : 69 Question Id : 7155052532 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B3, 337 BALeIN 3D SRETR, 3ROFTR). 03T BINF) O
SR, AT 03T 133jx), FOBIGRAND.

Options :

7155057933.

7155057934.

7155057935.



7155057936. .

Question Number : 70 Question Id : 7155052533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155057937. D

7155057938. A

7155057939. B

7155057940. C

Question Number : 70 Question Id : 7155052533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2D A3l (0 7°) MTH3) BWRRE 2306050 DE,)0R BRI,
Settmen, ADA3RNTIE OEIT (3N, D@, ) FORI llD.

AN AR

A B C D
Options :

7155057937. D
7155057938. A
7155057939. B

7155057940. C

Question Number : 71 Question Id : 7155052534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded in a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.

A/ AL




Options :

/ L ]
s
-',.I‘\/
™ » ™
.//T "N
7155057941, ks __sls e

. T } A
g
. d
™ of® L
,f/.l. N .
' N e
7155057942, ks __sls o
L] L
] P
!r/
. ofe .
{//-T} .
LV .
7155057943, % | *

L] as ]
[ ] "
e
(1
L] ;T\: [ ]
r ll\_

rd
7155057944, l,s _els @

Question Number : 71 Question Id : 7155052534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B3R5, 00e3 3EDON0F 20K BYOHR, eh BTN ehd), TR T,
FIDAOINE. s DFOD BT O, WEBATN BV0EZRRME 3EOCDIY,
FOR) doAND.

Options:




- - :’.

e

a<a"
L] L4 L

Aole

%
0// l Mo
7155057941. ks __als =

S .
o
l..-/
- Y ]
//lll\ L
i/ \\.
7155057942, ks __ele e
- ]
. s,
/1"
7 ™
[V e
7155057943, ks *|* =

: LN ;.

//'

[ X ]

- LV ] -
* SRe o

//| ~
b o
7155057944, lzs___sls &

Question Number : 72 Question Id : 7155052535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

I

/L) [/
AA

Options :



7155057945.

7155057946.

7155057947.

7155057948.

Question Number : 72 Question Id : 7155052535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



23, 335 WAL 3-D Sk, 3e0RR. 230w BEFE). i AR,
ADOIRNDE Rl TO@ILRAND.

P
ks
U\ﬁ
D\
"

Options:
7155057945.
7155057946.
7155057947.

7155057948.




Question Number : 73 Question Id : 7155052536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

\

/

Options :

7155057949.

7155057950.

7155057951.



7155057952.

Question Number : 73 Question Id : 7155052536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
03, 2835y RN 3-D (3, 3T, weedR BB, eIfE AT
A0CHNT S, TOmIRAND.

8

>

/
Options :

7155057949.



7155057950.

7155057951.

7155057952.

Question Number : 74 Question Id : 7155052537 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155057953.

7155057954.

7155057955.



7155057956.

Question Number : 74 Question Id : 7155052537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR, WEODOT et ATeR, FPNT 303),1FE). 2A,eIx ADGIRATES 3-D
20 1 (A3Ce) e3DA.

’

7155057953.

L L L
A

Options :



7155057954,

7155057955.

7155057956.

Question Number : 75 Question Id : 7155052538 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

" \\s\: & I")

[ e [ .

A B C D
Options:

7155057957.
7155057958.
N
7155057959.
%
7155057960.

Question Number : 75 Question Id : 7155052538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OB B3I BB ,enE B3, B3INYE). 2,07 3IBRODT 09,3 F0W0T
BRODTITHT. TrIodE BSC0D 3NE &F, BINTE) wORNE B3, 133 3T
2 3INY 2,00 BIBROON 953 DI AOWOF BRODIYR.. Tl 00x 3T
2%3NYoR ADIRNRE e30h,00:), FORIGHROND.

L 1) \\S\ ]
. e ® ?
A B C D
Options :
N
7155057957.
7155057958.
N
7155057959.
Z
7155057960.

Question Number : 76 Question Id : 7155052539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

x|
Options :
7155057961.
7155057962.
7155057963.

7155057964.



Question Number : 76 Question Id : 7155052539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X 1} e930me0e0eN Teéd,00e3 231 2eanN0Ies BaELd L0WWR,
FORIRAND.

Options :

7155057961.

7155057962.



N

7155057963.

7155057964, g&

Question Number : 77 Question Id : 7155052540 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

ik




7155057965.

7155057966.

7155057967.

>/

7155057968.

Question Number : 77 Question Id : 7155052540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Adeaohal, DeerTledaen cftttha egolh,nived), Abolwntisd eudCalal, esDA.

an

7

Options :

/ \
7155057965. K '
7155057966.
7155057967.
7155057968.

Question Number : 78 Question Id : 7155052541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?

[ [ [ [
\o‘lro /! \-‘ ’o / \-‘Irc / \-‘Frn/
l\ l\ '\ /l [ ]
h_ M/ Ak M 414 N Al N/ 4
A/I\kh/lx‘rxlxwwxi\r
WM BN W N Al

L] ] L] [ ] L] [ ]
TSN TSN AT
A B C D

Options :

7155057969. B

7155057970. A

7155057971. D

7155057972, C

Question Number : 78 Question Id : 7155052541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



DY oD, M) BRRE FeeN0DE) wHEeFenns whd), FANHE) 30T
Ton TPONE) T0, TATONEINE. T TeFad :hBIob, BTN
303000 wRED0N, TN e30d,NY0T FOBIGERAND.

Options :

7155057969. B

7155057970. A

7155057971. D

7155057972, C

Question Number : 79 Question Id : 7155052542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155057973.

7155057974.

7155057975.

7155057976.

Question Number : 79 Question Id : 7155052542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.l el :33nY Aadeichd), mcinhdia)m=y, Fomadtaclad.

ANIAWAIA
O @ @D

Options :

7155057973.

7155057974.

7155057975.

7155057976.

Question Number : 80 Question Id : 7155052543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

530 4 D Supply
500 + 7
5 350+ /
= 300+ 7
g 250+ / // / /
Z 200+ /
1304 / /
100 + /
50 +
mm Y >
O L VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155057977, B and D only

7155057978, A and B only

7155057979, A and C only

7155057980, B. C and D only

Question Number : 80 Question Id : 7155052543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



5501 D &PU,T

500 <+

A %

350+
B 7 /
=5 250+
@ 2001
150 + /
100+ /

50 +

20 Mo,

NTHTE
nnn

DN

]
0l gm0  APOTONE _ o e AEND

N I 3 S A
SRt e

#OR B3 OF, EBOMN g BRI 130T w3y, &es,3 DRI
FINTRINTE). ADOIONIITINE?

A. Avg € AT T 50% TRy, BBTANR, w003 SHTDAIR.
B. AP0BONE BFEINY Q) INYN03 Foas, eT,F BRODE.
C. ROPNTE) , D0R) BALNS A 2300T BROVE, 33T FET,FabE)
ARCONIIN A
D. 0), BAINFE) | 0GR @AY AR 3T, T a33Y, TR BANE
AR (BT BRODE.
T BT es0d,we), ADOIRE SITH, 630, weks.i-
Options :
7155057977, B @03, D 63303,

7155057978, A @03, B @303,
7155057979, A 2D 3), C &03,

7155057980, B> C e3), D ed0 3,

Planning



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 81 Question Id : 7155052544 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a person cannot meet a minimum level of living standards compared to others in the same

time and place, it is called :
Options :

7155057981, Poverty
7155057982. Abundance

7155057983, Adequacy

7155057984, Luxury

715505158
4

Online
Mandatory
25

25

100

Yes

0

1
715505158
Yes

null



Question Number : 81 Question Id : 7155052544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,00 AFR AeNTESTE). W), 58030 §30T03 TR, BOIE B
20é3, N0, TOLRE ¥R FTODIH:

Options :

7155057981, 20T 3™
7155057982, Moy,
7155057983, 0T e

7155057984, ) I Al

Question Number : 82 Question Id : 7155052545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Acropolis in Greece is a/an:

Options :

7155057985. Court

7155057986, Cltadel on a High Land

7155057987, Open Air Theatre

7155057988. Great Bath

Question Number : 82 Question Id : 7155052545 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
NEA*IE). e9B)¢ WREATE):
Options :

7155057985, 250D OD

7155057986, T0R3.3 @0 eI Batel
7155057987, F‘@@G&@@&ﬁ 83T/ A)E3Te anodTd

7155057988, Y043 (HWRT,) Ay~

Question Number : 83 Question Id : 7155052546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Land-use map, identify the colour code used for recreational uses.

Options :
7155057989. Yellow
7155057990. Green

7155057991, Purple

7155057992, Blue

Question Number : 83 Question Id : 7155052546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

230e03) VROSANAT FRBERE) , BetCoumen eaEsetNAT ), 26,3
TR 00T FOBDRAD.

Options :

7155057989, B0 ¥ 0D
7155057990, @0 AT
7155057991, L O%

7155057992, cJCE)

Question Number : 84 Question Id : 7155052547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Statement I : The plan of Delhi city is in the radial form.

Statement IT : The plan of Delhi city 1s in the Grid Iron form.

In the light of the above statements, choose the correct answer from the options given below:
Options:

7155057993. Both Statement I and Statement IT are true

7155057994. Both Statement I and Statement IT are false

7155057995, Statement I is true but Statement IT 1s false

7155057996. Statement I 1s false but Statement IT is true

Question Number : 84 Question Id : 7155052547 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S TYTT ORI BEFITFR, JeRBeTBNE.

RBePF 1 : B Jrox cdetaiodn &e3eod deamnd) .

BEDF 11 : 33 Iros cleteioln 520 000 20w CeIEAL.

motd] BePTNYRy, e, T¥NS escd,n¥e), Adcled enddad=y, DA,
Options :

7155057993, ZtFT 1ah3), @ePF I coTde RDOIwNE]

7155057994, BEPF 1203, @iPF I 0Re 3509, Nad

7155057995, BT 1 ADOIRNE &SE0 ©PT I Iz5e, NG

7155057996, ¥ T 1 3309, NDd 00 @ew s M A001WNG

Question Number : 85 Question Id : 7155052548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

A I [Christaller's concept

1».?

II. |Garden City concept

V
C. % IIT. [Ernest Burgess

\
(1100 &
D. D IV. [Radburn concept
(-
o

Choose the correct answer from the options given below:

Options :
7155057997, A-IL. B-III. C-I1, D-IV

7155057998, A-IIIL, B-1. C-II, D-IV

7155057999, A-IV, B-III, C-I, D-II

7155058000, A-IL, B-III. C-IV, D-I

Question Number : 85 Question Id : 7155052548 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@el, — 10 es =43, - T esndy, ®mRohi.

58, 1 =&, 11

A I A0 RTS8

B. IL G A8l 20T e
C. % L |ex&3F Ay, wone

Options :
7155057997. A-1L, B-III, C-1, D-IV

7155057998, A-III, B-1, C-II, D-IV

7155057999, A-IV, B-III, C-1, D-II

7155058000, A-IL, B-III, C-IV, D-I



Question Number : 86 Question Id : 7155052549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Tower in the Park [. |5ir Ebenezer Howards
B. [Neighbourhood Unit] II. [Le-Corbusier
C. |Garden City III. [Clerence Perry
D. |Sector Model IV. [Homer Hovt

Choose the correct answer from the options given below:
Options :
7155058001, A-L, B-III, C-IV, D-II

7155058002. A-IL, B-III. C-1, D-IV

7155058003. A-IL, B-III, C-IV, D-I

7155058004, A-IIIL, B-II, C-1, D-IV

Question Number : 86 Question Id : 7155052549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
#e3, — 10 2ed R, - [T 93y, BRODA.

=6, 1 =63, 11
A lenteade)tiad fetad| I [T 30wt @estes
B. [Rdmedoh @& I |&e-seedaricho’
C. Jentiess &nC IIL |z 0 &DF
D. |R=5.0¢ (a3r1F) 235030 IV. [Buetady, @etady,
FEN Defe0E3 esody,n¥e), ADOIRG eud Tedndy, es0d), ediede:

Options :
7155058001, A-L B-III, C-IV, D-II



7155058002, A-1IL, B-III. C-1, D-IV

7155058003, A-1I, B-III, C-IV, D-I

7155058004. A-IIL B-II, C-1, D-IV

Question Number : 87 Question Id : 7155052550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Ist Five Year Plan | [. |1969-1974
4th Five Year Plan | IT. |1951-1956
8th Five Year Plan | III. [1992-1997
11th Five Year Plan| IV |2007-2012

o|o|w|=

Choose the correct answer from the options given below:
Options :
7155058005. A-L. B-II, C-III, D-IV

7155058006. A-1I, B-1, C-III, D-IV

7155058007, A-IL, B-III, C-IV, D-I

7155058008. A-1I, B-1, C-IV, D-III

Question Number : 87 Question Id : 7155052550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



we3, — 10 2ed R, - II 93y, TBRODA.

=8, 1 =6, 11
A @@ @oFaiears oletesal] I |1969-1974
B. 473t @mOT oo F T O3@0sn II. |1951-1956
C. Bt mOToioars O3eEEm IT1. [1992-1997
D. 1153¢ @mowTeoears cletzay | IV 2007-2012

TN nJeG0has e30d, Y ), Aboden endUaday, e3ad, adiate.
Options :
7155058005. A-L. B-II, C-III, D-IV

7155058006, A-IL, B-1, C-III, D-IV

7155058007, A-IL, B-III, C-IV, D-I

7155058008, A-1I, B-1, C-IV, D-III

Question Number : 88 Question Id : 7155052551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A Madurat [. [Planned Hill city
B. |JAurowvile II. [Kadamba Vanam
C. [Lavasa ITI. |Grid Iron
D. |[Chandigarh IV. Pvlatr: Mandir

Choose the correct answer from the options given below:
Options :
7155058009. A-IV, B-1, C-II, D-III

7155058010, A-IV, B-II, C-1. D-III

7155058011, A-L B-II, C-IV. D-III



715505801 2. A-II, B-IV, C-1, D-III

Question Number : 88 Question Id : 7155052551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e, — 10 Bed R, - I1 93y, BAODA.

=8, 1 =&, 11
A 03T, I et W@ Snd
B. |sT®e0e3 I [st302) 8330
C |loza L [F0% 50,69
D. RFotetngd | IV [eR3) :30RT
FYR Jetalies esod, ), ADOE end Uadndy, e30d, sisele.

Options :
7155058009. A-IV. B-1. C-II, D-III

7155058010, A-IV. B-IIL, C-I, D-III

7155058011, A-L B-II, C-IV, D-IIT

7155058012, A-1I, B-IV, C-1. D-III

Question Number : 89 Question Id : 7155052552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following article is related to Panchayati Raj ?

Options :

7155058013. Article 243



7155058014, Article 324

7155058015. Article 124

7155058016. Article 73

Question Number : 89 Question Id : 7155052552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FTEND O TOeY) OLFIONIT T T A0WORATWY NTI?

Options :
7155058013, Tad)) 243

7155058014, TEaI) 324

7155058015. TEa)) 124

7155058016. Ta3)) 73

Question Number : 90 Question Id : 7155052553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many acres is 1 hectare?

Options:

7155058017. 2.47

7155058018. 3.47



7155058019. 4.47

7155058020. 3.47

Question Number : 90 Question Id : 7155052553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
| BELTIE). AR, DTINDE?
Options :

7155058017. 2.47
7155058018. 3.47
7155058019. 4.47

7155058020. 3.47

Question Number : 91 Question Id : 7155052554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of the NITI ?

Options :

7155058021 National Institute for Transforming India

7155058022, National Industry for Technology India

7155058023, Nattonal Industry for Transforming India



7155058024. National Industrial Technical Institute

Question Number : 91 Question Id : 7155052554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NITI O BRI IA DI CR@BaSCI?

Options :

Do;BAET B, 30583 0° €397 0 edEOTT GOBODW (National Institute for
7155058021, Iransforming India

e ]
7155058022, NOsANCY GOBA

eh)

0" E3%0,02) 0T3O (National Industry for Technology India)

ORI GOTBA, 0" &30 30e)dFOMNT GO 030 (National Industry for Transforming
7155058023, [ndia)

7155058024, VRV GOBA,ONET 638,567 G, E30563° (National Industrial Technical Institute)

Question Number : 92 Question Id : 7155052555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term "Conurbation" was coined by ?

Options :
7155058025, Kevin Lynch

7155058026. Patrick Geddes

7155058027. Ebenezer Howard



7155058028. Lewis Mumford

Question Number : 92 Question Id : 7155052555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"FTOr0eRE R (Conurbation) B3 BTIEITI, Ay ATIEITI?

Options :
7155058025, Tl €02

C b
7155058026, 05T 1168 LA

7155058027, e0230250° o alelta’ e

7155058028, SedA* eI 0FTEE

Question Number : 93 Question Id : 7155052556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the planner of Durgapur city?

Options :

7155058029. Le Corbusier

7155058030. Ebenezer Howard

7155058031, Joseph Allen Stein

7155058032, Charles Correa



Question Number : 93 Question Id : 7155052556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WIMRE R0 PNOE AIRED TR0 (@ S0F) 00I?

Options:
7155058029, € TOW@;EACHT*

7155058030, 22302 0° DRI TEE

7155058031, oA R ST & L

7155058032, BFOCHE TRTE

Question Number : 94 Question Id : 7155052557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In problem figures, A and B have certain relation. Identify which one of the answer figures will
have simular relation between C and D?

| iR |

Options :

g

7155058033.

7155058034.



Ak

Fa

7155058035.

i

7155058036.

Question Number : 94 Question Id : 7155052557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B3, 333 AzH3), B D3,3 R0WORFRE) BIeSa). C eH3), D 1Y Swdas 2,05
De3ch AOWOR BRODTIZ V3T 233w, FOBICRAND.

J 1R 2

Options :

7155058033.

7155058034.




Fa

7155058035.

i

7155058036.

Question Number : 95 Question Id : 7155052558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Housing Development Finance Corporation Limited (HDFC) was founded in:

Options:

7155058037. 1947

7155058038. 1961

7155058039. 1977

7155058040. 1981

Question Number : 95 Question Id : 7155052558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
My €92)83,0), BEOTOA) N2l ORI (HDFC) A0 BI0I00 B3R a):
Options :

7155058037. 1947



7155058038. 1961
7155058039. 1977

7155058040. 1981

Question Number : 96 Question Id : 7155052559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
An essential feature of federal government is:

Options:

7155058041. Centralisation of Powers
7155058042. Division of Powers between various levels
7155058043, Opposition

7155058044. Unwritten Constitution

Question Number : 96 Question Id : 7155052559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HBOEF FOTITCS 2,00 NI OFTEI):

Options :
7155058041, DR TOONY FCOOLFTED

7155058042, el BOINFE), e9PTOT IFLORYCFTTED (IOTITBE)



7155058043, 2O DTTED

7155058044, 2D I H0IHO

Question Number : 97 Question Id : 7155052560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a public sector bank?

Options :

7155058045, ICICI
7155058046. State Bank of India
7155058047. Indian Bank

7155058048, Canara Bank

Question Number : 97 Question Id : 7155052560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B3 FENT OI0EH T AREE 2T B3O 2I950T° €9€) ?

Options:
7155058045, ICICI (80 AE0A1E0)

7155058046, et &3° 2395077 €355° QOO

7155058047, BOTONT® 239;0F°



7155058048, O 009 2Id50T*

Question Number : 98 Question Id : 7155052561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, the location of D on the site is:
Options :

7155058049. 30-40

7155058050. 40-50

7155058051. 10-20

7155058052. 20-30

Question Number : 98 Question Id : 7155052561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058049.

7155058050.

7155058051.

7155058052.

30-40

40-50

10-20

20-30

Question Number : 99 Question Id : 7155052562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: In the given diagram, the location of B is higher than C
Statement IT: In the given diagram, the location of A is lower than C

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058053. Both Statement I and Statement IT are true

7155058054. Both Statement I and Statement IT are false

7155058055. Statement I 1s true but Statement IT is false

7155058056. Statement I 1s false but Statement IT is true

Question Number : 99 Question Id : 7155052562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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S YT O BDEFINTR, fBeRNG,

BODF 1 : T3, 0053 333, B odw C o3 300, |aoad

BOLF 11 : T263,0033 1333, A ol C o3 Fvr wthaymo

st BeLFrigh, MabdA, TYNS eaoh,nv'e), A00IRE endTa=, DA
Options :

7155058053, Xt¥T I3y, @ePT Il caddue ADOIwNE]

7155058054, ZE¥F a3 @ePF I cuTd.e 3ae, Nl

7155058055. mrPE I AbholnnG st mrew I Etc_tﬁ“lj"?_?:

7155058056, 2t¥7 I 3509, N03 &60 6wT I AN

Question Number : 100 Question Id : 7155052563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, the location of the A lies on which contour ?

Options:

7155058057.

7155058058.

7155058059.

7155058060.

Question Number : 100 Question Id : 7155052563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

20-30

30-40

10-20

40-50

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

10
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%R83,0a B3I, A 0 adv 239308303 2306 BRI TR, TTIMITH?

El CONTOUR



Options :

7155058057. 20-30

7155058058. 30-40

7155058059. 10-20

7155058060. 40-30

Question Number : 101 Question Id : 7155052564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: 'A' is located at the lowest point of the site.

Statement IT: 'A' is located at a lower point than B' on the site.

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058061. Both Statement I and Statement IT are true

7155058062. Both Statement I and Statement IT are false

7155058063. Statement I 1s true but Statement IT is false



7155058064. Statement I is false but Statement IT is true

Question Number : 101 Question Id : 7155052564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sk TYT D) DEFTNFR, BN,

BEDF 1 : A 0dw JeifFDE 93,03 F¥ L)otITE) Dozddd

BEPF 11 : )3T T &oted A o B No3 3¢ w0t ns.

=0t BePTrYsy, e, TYNS esad,nYe). Adcled enddad=y, DA,
Options :

7155058061, Zt¥T I1ah8), @ePF Il c00du ADOINE]

7155058062, Xt¥T I3y BePT Il caTdue 3we,Nad

7155058063. otLT 1 AD0IRNG @0 oPT I Izt NG

7155058064. e | B’c_:ﬁlwﬁtj e300 mewF I 2DHodmhod

Question Number : 102 Question Id : 7155052565 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, how many contour levels are present in between "P" and "S"
Options :

7155058065. 2

7155058066. 3

7155058067. 1

7155058068. 4

Question Number : 102 Question Id : 7155052565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058065. 2
7155058066. 3
7155058067. 1

7155058068. 4

Question Number : 103 Question Id : 7155052566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, "S" is higher than

Options :

L/

71550580609.

7155058070. 10

]
L

7155058071.

[
L/

7155058072.

A BUILDINGS

ALL DIENSIONS ARE
IN “M™

meter from "R"

Question Number : 103 Question Id : 7155052566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

LA

71550580609.

7155058070. 10

[
L

7155058071.

[y
A

7155058072.

Question Number : 104 Question Id : 7155052567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "R" is higher than "P" and "Q"
Statement IT : "S" is higher than "P", "Q" and "R"

In the light of the above statements, choose the correct answer from the options given below;
Options :

7155058073. Both Statement I and Statement IT are true

7155058074. Both Statement I and Statement IT are false



7155058075. Statement I 1s true but Statement IT 1s false

7155058076. Statement I is false but Statement I is true

Question Number : 104 Question Id : 7155052567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
7155058073. LT 13y, @ITT I oTde Aboiwng]

7155058074. i | EC-TS-'QD a2l Eniale- N é’mj‘-aﬂ
7155058075. otLT 1 AD0IRNG @0 oPT I Izt NG

7155058076. P 1 3we, Ned 3030 DEPF I R00ITeNGS



Question Number : 105 Question Id : 7155052568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "P" is located at a height of 110 M
Statement IT: "Q" is located 5 M lower than "S"

In the light of the above statements, choose the correct answer from the options given below:
Options:

7155058077. Both Statement I and Statement IT are true

7155058078. Both Statement I and Statement IT are false

7155058079. Statement I is true but Statement IT 1s false

7155058080. Statement I 1s false but Statement IT is true

Question Number : 105 Question Id : 7155052568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
7155058077, 2t¥T a3y @eLF Il 20due ADOINE]

7155058078, XE¥T 1ah3), @ePT Il coTtdue e, Nad

7155058079, ¥ T I AD0iRNG &TT @9 I 3709,NE

7155058080, t¥F I 3x0a, Nl 3030 @EL'F I ATCIWNG



